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Basic skill and knowledge in English (IA X I ATH (R4%.8) = QW)

a. Translation English to Nepali and Nepali to English (Simple Sentences-Simple present
tense with 3 to 5 words)

b. Word Meaning

¢. Matching different words according to their suitable words/groups
d. Spelling Writing (Two and three digit numbers)
e. Singular/Plural (Simple word)
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Answer the question v 93 x 3 75 —qy,
I Translate the following. (3x1=3)

T4 727 3.1 (Translate into English)

I read in class nine. oM 3= TEE

Nepali. (3x1=3)

51 EF 9 AR B9 FETeEEE 9Eud

3. Write the meaning of the following words in

: T (a) Police (b) Game (c) Money
I can play football. amdrer sz wiFr) 4. Match the words with their meanings. (3x1=3)
2. Write the spelling of given number. (3x1=3) pewal g; ,Sr‘;ﬁe‘
(a) 21 (b) 50 (c) 110 Water (3) Country
5. Change singular to plural / plural to singular (3x1=3)
(a) book (b) man (c) hen
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